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1995 1617 .80 17 67 4 57 0.89 0.79 22 .24 7.47 9.75 2.48 1.02 152
1996 1613.78 4 02 7.89 1.39 2.70 11 .91 4.73 2.93 2.30 0.16 1.79
1997 1612 42 141 9.79 1.68 3.24 11 .20 5.05 1.72 2.12 0.24 2 .07
1998 161344 -1.02 12 58 1.71 3.74 11 56 8.64 1.35 0.57 0.22 0.78
1999 1609 07 4 37 12 82 1.09 534 17 19 6.11 2.55 5.67 0.20 2 66
2000 1607 56 151 19 81 147 5.09 21 .32 8.79 4.29 5.86 0.25 2.13
2001 1601 .46 6.11 28 88 253 6.07 34 .99 13.59 8.71 2.91 0.75 2.73
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5 1995 2001
P 60 %
% 10° hd - 86 .42 %
1995 17 67 438 .63 3524.79 306 .25 0.5605
1996 4 02 4400.09 4146 .06 424 24 0 5698
1997 141 442 .28 4638.24 509 .75 05750
1998 -102 446 .8 4987 50 619 46 0 5754
1999 4 .37 4467 .46 5364 .89 - 05893 ( )
2000 151 4501 .22 6036.34 820 98 0.6259
2001 6.11 4519 .84 6748 .15 979 .20 0.6463
X ={ X(1) , X(2) , , X N) }
X ={X(1) ,X%(2) , , X (N)}
nrin] Xo( K) - X K) 1+ Snaxmax] (k) - X(K |
SO = TG - X(R T+ dnaxma] X( - X(K 1
X Xo k
3 %
n : Xi
Xo I
[= ]__ZHEI( k) k=12 n 1995 33 59 43 84 11 15 4 59 6.83 100
n k=1 1996 39 .71 24 60 10 92 134 15 .03 100
k 1997 45 09 15 .36 18 93 2 .14 18 .48 100
r: 1998 74 74 11 68 4 93 1.9 6.75 100
n 1999 3B H 14 83 32 99 1.16 15 .48 100
r= kZlEi( K-wWk);k=1,2, ,n 2000 41.23 20 .12 2749 117 9.9 100
W K) K 2001 3884 2489 832 215 7.80 100
Xo(t),
Xo(t) ={ X{1) , X(2) , y X 7) }
, t)
X 1) Xo( 1)
Xo(1) ={ X(D) , XA(2) , X7}
GDP
X(1) Xo(t) X(1) Xft) Xs(t) Xe ( ) X (1),
() XA1), X () ={X (1) ,X (2, X (7)};i=1,2,34
X() ={ X(1) ,X%X(2 , X (nysi=1,2, 7 i1=1234 GDP,
i=12, 7
5=0.5, "R(1) =0.585591, R (2) =
5 0.520007 ,R(3) =0.677 842 ,R(4) =0.667 294
=05, R(i) :R(1) =0.734044, R(2) tR(3) > R(4) > R(1) > R(2)

=0.500 745, R(3) =0.837 368, R(4) =0.954 604, R(5)
=0.809775, R(6) =0.959 950, R(7) =0.794 693

' R(6) > R(4) > R(3) > R(5) >R
(7) > R > R(2)

0.959 950 ;
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